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Problem quickname: 5814
1—) Quick:
5814
Reduce the fraction by the given number.
a) 5 by3 =3 by Sby2 =32 ) 5bybs =3
d)19by2 =2
2—) Quick:
Reduce the fraction by the given number. 5814
a)$by2 =1 b) Lhy3 =2 o Sbys =1
d) Ebys =3 e)2by2 =1 f) Sbyd =2
g Gby7 =1 h)sby2 =2 )febyd =1
Higby2 =3
3—) Quick:
Reduce the fraction by the given number. w
22
a) =5 by 2 :% b)%by?) =% C)%by9 =%
52 2 24 2 41
d) =5 by 2 =£ e) 55 by 4 :g f)g—llbyQ =17
3 1 60 1 A 2 1
HEbys =3
47) Quick:
Reduce the fraction by the given number. o
a)ibyél :% b)%by?) =% c)%by?) =%
d) 5 by8 =1 e) Sby3 =2 )2 bys =32
g)%byQ :% h)%byQ :%—4 1)%by2 :%
jarby3 =2
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Good Luck!
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